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Run 4622 quartetwise, posHQ: Beam DH

— Laser ON Entries: 40935 Entries: 31886 aam1_1ach._pacHo
- Mean: 11.5029 +- 0.0014 Mean: 7.6492 +- 0.0010 31886
[ Laser OFF Std Dev: 0.2910 +- 0.0010 | Std Dev: 0.1836 +- 0.0007 7649
— S0 DBV 0.1836
|_ | | | | | | 1 | I | 1 | 1 | 1 | | I | 1 | 1 | 1 | |
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Run 4622 quartetwise, asym0Osub: Beam ON

—— Laser ON
—— Laser OFF

Entries: 40835
Mean: 14.6636 «- L1654
Std Dew: 355027 - 01319

Entries: 31886
Mean: 0.1182 /- L1323
Std Dew: 27.1928 - 01077
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Run 4622 quartetwise, negHO: Beam DIN

Laser ON Entries: 40935 Entries: 31886 dom_Jach. naghd

[ Mean: 113916 +/'- 00014 Mean: 78483 «- 0.0010 31886

1800 [ - LEEE[ I:"FF Std Dew: L2874 +/- 0.0 0 Std Dew: 0.1843 - 0.0047 7.648

— oo 0.1843
1600 |—
1400 —
1200
1000 —
800 —
600 —
400 —
200 —

'D :I 1 1 1 | 1 1 1 | 1 1 1 1 | 1 l 1 | 1 1 1 1 | l 1
7 8 9 10 11 12
-------- Histogram Vars

Positive Hel (ON): 11.502852 +/- 0.001443
Negative Hel (ON): 11.391615 +/- 0.001421
Positive Hel (OFF): 7.649162 +/- 0.001028
Negative Hel (OFF): 7.648265 +/- 0.001032
-------- Sums and Diffs

On Diff: 0.111237 +/- 0.001404

Off Diff: 0.000898 +/- 0.001157
On Sum: 22.894466 +/- 0.002496
Off Sum: 15.297427 +/- 0.001705
-------- Asymmetries
On Asym: 14.642145 +/- 0.184886 (ppt)
Off Asym: 0.118152 +/- 0.152284 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 7.597039 +/- 0.003022
BkSub Asym: 14.523993 +/- 0.239527 (ppt)
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Run 4622 quartetwise, posHO vs time
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Run 4622 quartetwise, negHO vs time
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Run 4622 quartetwise, bcm vs time
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